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HX 40,026 86,213 41,068 45,145
RIRET1T 6 15 9 6
RIRET2T 26 54 25 29
AIEET3T 175 580 282 208
RIRET4T 402 962 481 481
B 609 1,611 797 814
REH 2,682 6,009 2,794 3215
L&A 4,330 9,456 4,386 5,070
5E 2,643 5,936 2,872 3,064
B AN 1,312 2,848 1,334 1,514
BERT 1,384 1,966 953 1,013
BER2T 764 1,377 661 716
BERST 606 1,428 688 740
B 2,754 4,771 2,302 2,469
BEXRE 276 653 318 335
= 2,207 4971 2,357 2,614
hERE 647 1,439 666 773
e 2,483 5,094 2,450 2,644
25 L ET 2,344 5,099 2,436 2,663
B &AL BT 76 151 63 88
HEFILET1T 561 1,196 559 637
HEFILET2T 618 1,283 597 686
HEZFILAT3T 652 1,490 736 754
g 1,907 4,120 1,955 2,165
B & it B Fr ET 690 1,564 754 810
BHEREBET1T 576 1,176 565 611
BHERERET2T 771 1,741 830 911
BHERERETST 780 1,591 719 872
BHERERET4T 514 945 442 503
HEKERETST 844 1,697 810 887
HEERET6T 872 1,896 918 978
BHERERET7T 885 1,837 911 926
HERERETST 69 209 101 108
£t| 5311 11,092 5,296 5,796
HEF R FET 1,980 4127 2,019 2,108
S|EFET1T 627 1,583 790 793
S|EFET2T 766 1,734 811 923
S|EFET3 T 727 1,374 634 740
g 2,120 4,691 2,235 2,456
ERE1T 580 1,311 630 681
EIRET2T 387 1,039 519 520
EREIST 514 1,339 658 681
EIRETAT 691 1,465 652 813
EIZEIST 531 1,099 561 538
g 2,703 6,253 3,020 3,233
ME A 2,914 6,270 2,982 3,288
J\THET1T 37 39 15 24
J\THET2T 26 58 30 28
J\THEI3T 51 112 50 62
B 114 209 95 114
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